

Knowledge, Attitude and Control Practices of Malaria at Bunkure Local Government Area of Kano State

Bukhari,¹ A., Yayo,¹ A. M., Dabo,² N. T. and Yusuf,¹ M. S.

¹Department of Medical Microbiology and Parasitology, Bayero University Kano.

²Department of Biological Sciences, Bayero University Kano .

Corresponding Author: bukharishukura@gmail.com; 08053403535

Abstract: This study was aimed at evaluating the knowledge, attitude as well as control practices of malaria among residents of Bunkure Local Government Area of Kano State, Nigeria. Questionnaire and interview were employed for this study. All data collected were analyzed using SPSS version 20. Out of 400 participants interviewed, 95.75 %, 96% and 79.5% of them had knowledge about the transmission, symptoms, and prevention of the disease, respectively. Majority (91%) of the respondents considered malaria a serious disease and 83% had positive attitude toward the use of hospital for malaria treatment. Forty percent and 88.5% of the respondents had good practices towards malaria prevention and treatment respectively. Despite high levels of knowledge and attitudes in the study area, gaps persist in appropriate preventive practices. This study demonstrated the need to focus on awareness programs to use existing knowledge in practice to control malaria in this locality.

Keywords: Attitude, Bunkure, Knowledge, Malaria, Practices.

INTRODUCTION

Malaria is one the world's most deadly parasitic disease (Sadanand, 2010). It is a disease that is preventable and curable. This disease is a serious health problem in many developing countries and one of the major diseases for people living in tropical and sub-tropical areas, especially in Africa, where Nigeria has the greatest number of malaria cases (WHO, 2015). Globally, approximately 429,000 deaths and 216 million cases of malaria occur annually and 3.2 billion people are at risk of infection (WHO, 2017).

Nigeria suffers the world's greatest malaria burden, with approximately 51million cases and 207,000 deaths reported annually (approximately 30% of the total malaria burden in Africa), while 97 % of the total population (approximately 173 million) is at risk of infection (WHO, 2014). The country is made up of several hundreds of communities and settlements with their own indigenous people, microclimate, topography, population densities, cultural practices and general way of life. These parameters greatly influence the transmission intensity and management of the disease (Umaru and Gabriel, 2015).

Malaria is highly prevalent among rural Hausa communities in Nigeria (Dawaki *et*

al., 2016). Many control measures have been implemented in eradicating malaria, but the disease still remain a major public health problem. The failure to consider community's knowledge, attitude, and practice (KAP) about malaria has contributed to the inability of programs to achieve sustainable control (Tyagi *et al.*, 2005). In 2015 there was an outbreak of malaria in Kano State and this was blamed on peoples' attitude and control practices towards malaria (Health reporters, 2016).

Families are primary contact within which most health problems and illnesses occur and have a powerful influence on health (Campbell *et al.*, 2002). Understanding these issues, could help in developing strategies, aimed at sustainable control of malaria. This study was conducted to access Knowledge, Attitude and Control practices of malaria among residents of Bunkure Local Government Area of Kano State.

MATERIALS AND METHODS

The Study Area

The study area is Bunkure Local Government Area of Kano State in north-western Nigeria, is located approximately 88.5km east of Kano, in the semiarid zone, around latitudes 10°33' N to 12°03' N and longitudes 7°34' E to 8°32' E.

It has an area of 487km² and a population of 170,891. The climate of the state is mainly Sudanese type of the tropical wet-dry season which is characterized by 5-6 months of rainfall (from May to October) and 6-7 months of dry season with the mean annual rainfall of 792mm (Olofin, 1985). The temperature is averagely warm to hot throughout the year at about 25± 7°C (Olofin, 2002).

Ethical Considerations

Prior to the commencement of this work, an ethical approval for the study was obtained from the Ministry of Health and ethical committee of Aminu Kano Teaching Hospital. Permission was obtained from Head of Primary Health Care Department at Bunkure Local Government Area before carrying out the survey. Consent was obtained from head of selected households before inclusion as participant.

Study Population

The study populations in this study were adult above or equal to 18 years of age in the selected households.

Study Design

The study was a descriptive cross-sectional survey which was carried out between August and December, 2017. A questionnaire was used to access peoples' Knowledge, Attitude and control Practices. Cluster sampling method was used in this study according to Lance and Hattori (2016) to administer the questionnaire to the participants.

Sample Size

The sample size was computed based on Wane (2015) formula for estimating

population Proportion. The sample size obtained was 400.

Data Collection

A total of 400 households were randomly selected for interview. A structured questionnaire was administered to the head of selected households to collect information on KAP for malaria. This was done in accordance with Bowling (2010). The questionnaire has four sections; socio-demographic characteristics, knowledge, attitude and control practices for malaria. The questionnaire was written in English, and translated and communicated in local language (Hausa).

Data Analysis

All data collected were analyzed by statistical package for social science (SPSS) version 20. Descriptive statistics was carried out to determine the frequencies and percentages of the variables.

RESULTS

Knowledge of Malaria

The social-demographic characteristics of the participants in this study are presented in Table 1. A total of 400 individuals participated in the study. Out of the 400 subjects, 358 (89.5%) were males, and 42 (10.5%) were females. Majority 252 (63%) of these subjects were aged 18 to 37 years. Most of these respondents 328 (82%) were formally educated while few 72 (18%) were not. In this community, 240 (60%) of the participants were farmers, 8 (2%) were civil servants, 88 (22%) were self employed (Traders, Carpenters e. t. c) and 64 (16%) were unemployed.

Table 1: Socio-demographic Characteristics of Participants at Bunkure Local Government Area

Socio-demographic characteristics	Frequency	Percentage (%)
Gender		
Male	358	89.5
Female	42	10.5
Total	400	100
Age		
18- 37	252	63
≥ 38	148	37
Total	400	100
Location		
Gurgiya	98	24.50
Bunkure	195	48.75
Jallabi	40	10.00
Falingo	35	8.75
Bono	32	8.00
Total	400	100
Educational status		
Primary	200	50.00
Secondary	50	12.50
Tertiary	78	19.50
Quranic	72	18.00
Total	400	100
Occupation		
Civil servant	8	2.00
Farmer	240	60.00
Self-employed	88	22.00
Unemployed	64	16.00
Total	400	100

The knowledge of the transmission, symptoms, and prevention of malaria is presented in Table 2. Generally, majority of the respondents were well informed about malaria. All the participants had heard of a disease called malaria, but not all of them had full knowledge of it. The knowledge of malaria was obtained primarily through family and friends and individuals' experiences 228 (57%), this is followed by health workers 104 (26%) and media 68 (17%). Majority 383 (95.75%) of the participants knew that mosquito bites are responsible for malaria transmission, but very few 7 (1.75%) associated it with body contact with infected person and 10 (2.5%)

of them did not know. Moreover, 384 (96%) of the respondents had the right knowledge of the symptoms (fever, Headache, chill, weakness, vomiting e. t. c) of malaria while 16 (4%) of them mention others such as yellow eyes and urine. Stagnant water was reported as mosquito breeding area by most 334 (83.5%) of the respondents while 16 (4%) reported others (in sand and uncovered food) and 50 (12.5%) did not know. Furthermore, 318 (79.5%) of the respondents indicated that they avoided mosquitoes by using bed nets or insecticide, while 82 (20.5%) used mosquito repellent and coil.

Attitudes towards Malaria

Attitude of the participants toward malaria is presented in Table 3. Majority of the subjects 364 (91 %) regarded malaria as a serious disease, while 36 (9%) of them indicate that it is not serious. Malaria was reported as treatable disease by almost all 394 (98.5%) the participants, but very few 6 (1.5%) stated that it is not. However with regards to treatment seeking behaviour, a considerable number of the respondents 332 (83%) mentioned that they went to hospitals when they had an episode of fever, while 68 (17%) of the respondents self-medicated as a first-line of treatment for fever. The result of attitude in respect to who should be protected most against malaria, indicated that, 240 (60%) of the respondents knew is children and pregnant women, 126 (31.5%) stated children alone, 21(5.25%) mentioned pregnant women only and 13 (3.25%) stated adults.

Control Practices of Malaria.

The result on control practices of malaria is presented in Table 4. More than half 222 (55.5%) of the respondents indicated practicing environmental sanitation only as the action taken to stop malaria, 160 (40%) of them stated environmental sanitation and the use of bed net/ insecticide and 18 (4.5 %) reported screening of windows and doors

only. Regarding the medicine used for the treatment of malaria, 354 (88.5%) of the respondents stated the use of anti-malaria drugs while 46 (11.5%) of them mention use of herbs. Majority 388 (97%) of the respondents used bed nets during the rainy season only while 12 (3%) of them used it in all season.

Respondents' Level of Knowledge about Malaria in Relation to their Gender

The respondents' level of knowledge about malaria with their gender is presented in Tables 5. There was significant difference in level of knowledge of malaria among the genders. The results shown significantly higher levels of knowledge among males than in females in terms of the role of mosquitoes in malaria transmission (males 350 (97.8%) and females 33 (78.6%) ($\chi^2 = 33.914$, $P = 0.0001$), fever, chill, and vomiting as signs and symptoms of malaria (males 347 (96.9%) and females 37 (88.1%) ($\chi^2 = 7.636$, $P = 0.006$), as well as stagnant water as the breeding site of mosquitoes (male 305 (85.2%) and female 29 (69%) ($\chi^2 = 7.115$, $P = 0.008$). However, concerning the level of knowledge on the preventive measures, statistically ($\chi^2 = 0.315$, $P = 0.574$), there was no significant difference between males 286 (79.9%) and females 32 (76.2%).

Table 2: Knowledge of Malaria among the Participants at Bunkure Local Government Area

Variable	Frequency	Percentage (%)
Have you heard of malaria?		
Yes	400	100
No	-	-
Source of information		
Media	68	17.00
Health workers	104	26.00
Family and friends/individuals' experiences	228	57.00
Total	400	100
Malaria transmission		
Mosquito bites	383	95.75
Contact between two people	7	1.75
Do not know	10	2.50
Total	400	100
Signs and symptoms		
Fever, Headache, chill, weakness, vomiting	384	96.00
Others (yellow eyes and urine)	16	4.00
Total	400	100
Mosquito breeding site		
Stagnant water body	334	83.50
Others (in sand and uncovered food)	16	4.00
Do not know	50	12.50
Total	400	100
Prevention		
Cleaning environment, using bed nets/insecticide	318	79.50
Mosquito repellent & coil	82	20.50
Total	400	100

Table 3: Attitude of Participants towards Malaria at Bunkure Local Government Area

Variables	Frequency	Percentage (%)
Is malaria a serious disease?		
Yes	364	91.00
No	36	9.00
Total	400	100
Is malaria treatable?		
Yes	394	98.50
No	6	1.50
Total	400	100
What do you do when malaria occur?		
Go to hospital	332	83
Treatment at home	68	17
Total	400	100
People that should be protected most		
Children	126	31.50
Adult	13	3.25
Pregnant women	21	5.25
Pregnant women & Children	240	60.00
Total	400	100

Table 4: Control Practices of Malaria by the Participants at Bunkure Local Government Area.

Variables	Frequency	Percentage (%)
Action taken to stop malaria		
Environmental sanitation	222	55.50
Environmental sanitation and bed net / insecticides	160	40.00
Screening of windows and doors	18	4.50
Total	400	100
Medicine use for malaria		
Anti-malaria drugs	354	88.5
Herbs	46	11.5
Total	400	100
When do you use bed net?		
Rain season	388	97.00
All season	12	3.00
Total	400	100

Table 5: Respondents' Level of Knowledge about Malaria in Relation to their Gender.

Variables	Gender	
	Female No. (%)	Male No. (%)
Ever heard of malaria?		
Yes	42 (10.5)	358 (89.5)
No	-	-
Transmission of malaria		
Mosquito	33 (78.6)	350 (97.8)
Others	9 (21.4)	8 (2.2)
χ^2	33.914	
<i>P</i>	< 0.0001	
Signs and symptoms		
Fever, chill, headache & Vomiting.	37 (88.1)	347 (96.9)
Others	5 (11.9)	11 (3.1)
χ^2	7.636	
<i>P</i>	0.006	
Breeding sites		
Water body	29 (69)	305 (85.2)
Others	13 (31)	53 (14.8)
χ^2	7.115	
<i>P</i>	0.008	
Prevention		
Cleaning environment, using bed nets / insecticide.	32 (76.2)	286 (79.9)
Others	10 (23.8)	72 (20.1)
χ^2	0.315	
<i>P</i>	0.574	

DISCUSSION

The result of questions asked on the knowledge of malaria revealed that, majority the respondents had the right knowledge of malaria. This could have a positive impact on the malaria control programme. This is consistent with other similar studies in Nigeria (Abuja (Akaba *et al.*, 2013), Ondo State (Usman *et al.*, 2015), Delta State (Arute *et al.*, 2016)), Cameroon (Dickson *et al.*, 2017), Ethiopia (Abate *et al.*, 2013) and Zambia (Shimaponda-mataa *et al.*, 2017). However, the result is contrary to other similar studies reported in Zamfara (Hadiza *et al.*, 2015), Aliero, Kebbi State (Singh *et al.*, 2014), in northern Ghana (Adongo *et al.*, 2005) and Tanzania (Mazigo *et al.*, 2010). The main source of information was from family and friends or individuals' experiences with malaria, followed by health workers. This is consistent with studies in north central Nigeria (Olayemi *et al.*, 2012), in western Nigeria (Fatungase *et al.*, 2013), and Ghana (Mukaila *et al.*, 2016). This study revealed that majority of the respondents knew that mosquito is responsible for malaria transmission. This agrees with other previous similar studies reported across the World; in south western Nigeria (Ako-Nai and Adesiyon, 2012), Malawi (Masangwi *et al.*, 2012), Indonesia (Sanjana *et al.*, 2006), Saudi Arabia (Khairy *et al.*, 2017) and India (Gupta *et al.*, 2016). Nevertheless, the results also indicated that lack of awareness may contribute to misconceptions about transmission of malaria as few of the participants associated it with body contact with infected person and some did not know. Such misconceptions have also been reported in other similar studies in other states in Nigeria (Zamfara (Hadizat *et al.*, 2015), Ogun State (Idowu *et al.*, 2008), Oyo State, (Oladepo *et al.*, 2010; Babamale *et al.*, 2015)) and Republic of Guinea (Ruberto *et al.*, 2014). This study has demonstrated that almost all respondents had knowledge about malaria signs and symptoms. Majority of the respondents mentioned fever as the most common symptom of malaria and is consistent with observations from other similar studies in Nigeria (Bawa *et al.*, 2014;

Akaba *et al.*, 2013; Okwa *et al.*, 2011, Burkina Faso (Yaya *et al.*, 2017), Uganda (Obol *et al.*, 2011) and Ethiopia (Astatkie, 2010). This high level of awareness of the clinical features of malaria might be due to self experience of malaria, health education by health workers and increased access to mass media. Knowledge on the use of bed net or insecticide as a preventive measure against mosquito bite was high among the respondents in this study area. Similarly this was observed in other studies in Nigeria (Erhun *et al.*, 2005; Singh *et al.*, 2014; Akaba *et al.*, 2013), Ghana (Nyavor *et al.*, 2017), Ethiopia (Abate *et al.*, 2013), Malawi (Masangwi *et al.*, 2012) and Colombia (Forero *et al.*, 2014).

The result on attitude of the respondents towards malaria indicated that, majority believed that malaria is a serious disease, which is consistent with other studies in Nigeria (Isah *et al.*, 2007; Adedotun *et al.*, 2010) and other countries; Zambia (Shimaponda-mataa *et al.*, 2017) and South Asia (Regmi *et al.*, 2016). However, few percentages believed that malaria is not a serious disease. This suggests the need of more sensitization towards malaria to improve their attitude. Use of hospital for treatment and protecting children and pregnant women most from the disease, were stated by majority of the respondents. This is expected in this study, with 82% of the respondents having been formally educated. This is similar to other studies in Nigeria (Singh *et al.*, 2014; Arute *et al.*, 2016), Burkina Faso (Yaya *et al.*, 2017), Tanzania (Mboera *et al.*, 2007) and Ethiopia (Abate *et al.*, 2013).

Environmental vector control through elimination of the vector habitat at an early stage is an important primary preventive measure for malaria. In this study, the respondents indicated practicing environmental sanitation, but this was not seen in their practice as improper disposal of refuse that can lead to blockage of drainages and the presence of stagnant pool of water which serve as breeding sites for *Anopheles* mosquito vectors were noticed in the study area.

This is consistent with other studies in Nigeria (Iriemenam *et al.*, 2011; Olayemi *et al.*, 2012), Ethiopia (Fuge *et al.*, 2015), Tanzania (Mazigo *et al.*, 2010) and Eritrea (Habtai *et al.*, 2008). The use of anti-malaria drugs was higher among the respondents. Some of the respondents still mentioned herbs as the first treatment for malaria at home. This was similar with studies in Tanzania (Mazigo *et al.*, 2010) and Ghana (Ajayi *et al.*, 2008). This study revealed that, almost all (97%) the respondents used bed net only during the rainy season, considering the fact that it has to be regularly used, and properly deployed to be effective for malaria control. Studies had indicated that Low mosquito activity during dry season has particularly been noted to be a very important deterrent to ITN use in several communities in Nigeria, where the net is predominantly used for mosquito nuisance

control, even as malaria transmission is stable and perennial in the communities (Ordinioha, 2007). This is supported by studies conducted in Burkina Faso (Okrah *et al.*, 2002), Ghana (Nyavor *et al.*, 2017) and Kenya (Atieli *et al.*, 2011).

CONCLUSION

Majority of the populace had knowledge on transmission (95.75%), symptom (96%) and prevention (79.5%) of malaria. Majority (91%) of the respondents considered malaria a serious disease and 83% had positive attitude toward the use of hospital for malaria treatment. Despite the high level of knowledge on the use of bed net, majority (97%) of respondents used it only during the rainy season. However, there was a gap in appropriate preventive practices in the study area.

REFERENCES

- Abate, A., Degarege, A. and Erko, B. (2013). Community knowledge, attitude and practice about malaria in a low endemic setting of Shewa Robit Town, northeastern Ethiopia. *BioMedical Central Public Health*. 13(1): 312.
- Adedotun, A. A., Morenikeji, O. A. and Odaibo, A. B. (2010). Knowledge, attitudes and practices about malaria in an urban community in south-western Nigeria. *Journal of Vector Borne Diseases*. 47(3):155-159.
- Adongo, P. B., Kirkwood, B. and Kendall, C. (2005). How local community knowledge about malaria affects insecticide treated net use in northern Ghana. *Tropical Medicine International Health*, 10 (4):366–378.
- Ajayi, I. O., Falade, C.O. and Olley, B.O. (2008). “A qualitative study of the feasibility and community perception on the effectiveness of artemether-lumefantrine use in the context of home management of malaria in south-west Nigeria,” *BioMedical Central Health Services Research*, 8(119):12
- Akaba, G. O., Otubu, J., Agida, E. T. and Onafowokan, O. (2013). Knowledge and Utilization of Malaria Preventive Measures among Pregnant Women at a Tertiary Hospital in Nigeria's Federal Capital Territory. *Nigeria Journal of Clinical Practice*. 16(2):201-206.
- Ako-Nai, K. A. and Adesiyan, M. (2012). Unusually High Prevalence of Malaria in a Tertiary Institution Setting in Southwestern Nigeria. *International Journal of Medicine*, 7(4):121–129.
- Arute, J. E., Okolosi-Patani, E. O., Ahwinahwi, U. S. and Agare G. I. (2016). A Survey of the Knowledge, Attitude and Practice of Lay Publics' Towards Malaria in Delta State, Nigeria. *International Research Journal of Pharmaceutical and Biosciences*, 3(2):08-24.
- Astatkie, A. (2010). Knowledge and Practice of Malaria Prevention Methods among Residents of Arba Minch Town and Arba Minch Zuria District,

- Southern Ethiopia. *Ethiopia Journal of Health Science*, 20(3): 185–193.
- Atieli, H. E., Zhou, G., Afrane, Y., Lee, M., Mwanzo, I., Githeko, A. K., and Yan, G. (2011). Insecticide-treated net (ITN) ownership, usage, and malaria transmission in the highlands of western Kenya. *Parasite Vectors*, 4(1): 113.
- Babamale, A., Olarewaju, A., Adenekan, Tawaklitu, A., Ugbomoiko and Uade S. (2015). Community Knowledge On Transmission Of Malaria And Its Management Practice In Oorelope Local Government, Southwestern Region, Nigeria. *Animal Research International*, 12(2): 2203-2211.
- Bawa, J. A., Auta, T. and Liadi, S. (2014). Prevalence of Malaria: Knowledge, Attitude and Cultural Practices of pregnant Women in Katsina Metropolis, Nigeria. *European Scientific Journal*, 10(21):1857 -7881.
- Bowling, A. (2012). The Tools of Quantitative Research. *Research Methods in Health: Investigating Health and Health Services*. 2nd ed. Buckingham, Philadelphia: Open University press; p. 255–350.
- Campbell, T. H., McDaniel, S. H., and Cole-Kelly, K. (2002). Family issues in Health care. In: Taylor R. B, editor. *Family Medicine Principles and Practices*. 6th edition. New York: Springer-Verlag ; p. 24.
- Dawaki, S., Al-Mekhlafi, H. M., Ithoi, I., Jamaiah, I., Wahib, M. A., Awatif, M. A., Hany, S., Fatin N. E., Ado, U. A., Saadatu, I. Y., Abdulhamid, A., Mona, A. A., Lahvanya, R. S., Nabil, A. N. and Yee-Ling, L. (2016). Is Nigeria winning the battle against malaria? Prevalence, risk factors and KAP assessment among Hausa communities in Kano State. *Malaria Journal*. 15:351.
- Dickson, S. N., Jules, C. A. N., Mulu, N., Amos, W. B and Katte, I. K. (2017). Community Health Workers' Knowledge, Attitudes and Practices Regarding Malaria Control and Prevention in Bamenda, Cameroon: A Community Based Study. *Journal of Health and Medical Informatics*, 8(1):5.
- Erhun, W. O., Agbani, E. O and Adesanyo, S. O. (2005). Malaria prevention: Knowledge, attitude and practice in a Southwest Nigerian community. *African Journal of Biomedical Research*, 8(1): 25-29.
- Fatugase, K. O., Amoran, O. E. and Fatugase, O. K. (2013). The impact of health education intervention on perception and treatment seeking behaviour about childhood infections among caregivers in rural communities in western Nigeria. *British Journal of Medical Research*, 3(1):1331–1343.
- Forero, A. D., Pablo, E. C., Andres, F. V., Yoldy, B., Juan, B. G., Myriam, A. and Sócrates, H. (2014). Knowledge, attitudes and practices of malaria in Colombia. *Malaria Journal*, 13:165.
- Fuge, T. G., Samuel, Y. A. and Fiseha, L. G. (2015). Assessment of knowledge, attitude and practice about malaria and ITNs utilization among pregnant women in Shashogo District, Southern Ethiopia. *Malaria Journal*, 14:235.
- Gupta, R. K., Raina, S. K., Shora, T. N., Jan, R., Sharma, R. and Hussain, S. (2016). A household survey to assess community knowledge, attitude and practices on malaria in a rural population of Northern India. *Journal of Family Medicine*, 5(1):101-7.
- Habtai, H., Tewolde, G., Selam, M., Jacob, M. and Andemariam, G. (2008). Knowledge, Attitudes and Practices (KAP) About Malaria among People Visiting Referral Hospitals of Eritrea. *Journal of Eritrean Medical Association*, 4(1):52.

- Hadiza, K., Abdul R., Kadir, H., Shahar, Hayati, U. G. and Ismaila. (2015). Association between knowledge, attitude and preventive practices on malaria among pregnant women with and without malaria attending ante-natal care in Zamfara state, Nigeria. *International Journal of Public Health and Clinical Sciences*, 2 (5): 68-78.
- Health Reporters, Africa's online health news paper. (2016). <http://www.healthreporters.info/2016/04/27/kano-records-22000-malaria-deaths-in-2015>. Accessed 8 Jun, 2016.
- Idowu, O. A, Mafiana, C. F and Sotiloye, D. (2008). Traditional birth home attendance and its implications for malaria control during pregnancy in Nigeria. *Tropical Medicine and Hygiene*, 102(7):679-684.
- Iriemenam, N. C., Dosunmu, A. O., Oyibo, W. A. and Fagbenro-Beyioku, A. F. (2011). Knowledge, attitude, perception of malaria and evaluation of malaria parasitaemia among pregnant women attending antenatal care clinic in metropolitan Lagos, Nigeria. *Journal of Vector Borne Diseases*, 48(1):12-17.
- Isah, E. C., Ofili, A. N., Ogbebor, C. E., Obahiagbon, I. and Isah, A. O. (2007). Knowledge of malaria and the practices towards its control among urban dwellers in Benin City. *Niger Postgraduate Medical Journal*, 14(1):125-128.
- Khairy, S., Al-Surimi, K., Ali, A., Shubily, H. M., Al Walaan, N., Househ and El-Metwally A. (2017). Knowledge, attitude and practice about malaria in south-western Saudi Arabia: A household-based cross-sectional survey. *Journal of Infection and Public Health*. 10(5): 499-506.
- Lance, P. and Hattori, A. (2016). *Sampling and Evaluation*, 6(8):62-64.
- Masangwi, S. J., Grimason, A. M., Morse, T. D., Ferguson, N. S and Kazembe, L. N. (2012). Community knowledge variation, bed-net coverage and the role of a district healthcare system, and their implications for malaria control in southern Malawi. *South African Journal of Epidemiology Infection*, 27(3):116-25.
- Mazigo, H. D., Obasy, E., Mauka, W., Manyiri, P., Zinga, M. and Kweka, E. J. (2010). Knowledge, attitudes, and practices about malaria and its control in rural northwest Tanzania. *Malaria Research Treatment*, 42(61):1-9.
- Mboera, L. E. G., Mlozi, M. R. S and Senkoro K. P. (2007). Malaria and Agriculture in Tanzania. Impact of Land Use and Agricultural Practices on Malaria in Mvomero District, National Institute for Medical Research, Dares Salaam, Tanzania, 91(43):1-9, 2007.113:139-144.
- Mukaila, Z. M., Mohammed, A. S., Korkortakor, B. S. Z., Bukari M., Cynthia, K., Tanko M. and Assau G. (2016). Knowledge and Skills of Mothers Care Givers of Children Less than Five Years in Communities with Home Based Management of Malaria in Tamale, Northern Region, Ghana. 3(4): 923-932.
- Nyavor, K. D., Kweku, M. Agbemaflle, I., Takramah, W., Norman, I., Tarkang, E. and Binka, F. (2017). Assessing the ownership, usage and knowledge of Insecticide Treated Nets (ITNs) in Malaria Prevention in the Hohoe Municipality, Ghana. *Pan Africa Medical Journal*. 28(1): 67.
- Obol, J., Kitara, D. L., and Orach, C. G. (2011). Knowledge and Misconceptions about Malaria among Pregnant Women in a Post-Conflict Internally Displaced Persons' Camps in Gulu District, Northern Uganda. *Malaria Research and Treatment*. 201:1-7.
- Okrah, J., Traoré, C., Palé, A., Sommerfeld, J. and Müller, O. (2002). Community factors associated with malaria prevention by mosquito nets: an

- exploratory study in rural Burkino Faso. *Journal of Tropical Medicine and International Health*. 7(3):240-248.
- Okwa, O. O., Bello, B. A. and Olundegun, S. A. (2011). Social aspects of malaria among students in two tertiary institutions in Lagos, Nigeria. *Sierra Leone Journal Biomedical Research*, 3(1):97-103.
- Oladepo, O., Tona, G. O., Oshiname, F. O. and Titiloye, M. A. (2010). Malaria knowledge and agricultural practices that promote mosquito breeding in two rural farming communities in Oyo State, Nigeria. *Malaria Journal*, 9:91.
- Olayemi, I. K., Omalu, I. C., Abolarinwa, S. O., Mustapha, O. M., Ayanwale, V. A. and Mohammed, A. Z. (2012). Knowledge of malaria and implications for control. *Asian Journal of Epidemiology*, 5(2):42-9.
- Olofin, E. A. (1985). Human responses to natural environment in Kano region. In; Barkinda, A. (ed) Kano and Some of her Neighbours. Ahmadu Bello University Press, Zaria. Pp 2-16
- Olofin, E. A. and Tanko, A. I. (2002). Laboratory of areal differentiation; Metropolitan Kano geographical perspective. Department of Geography, Bayero University, Kano. Field Studies Series 1.
- Ordinioha, B. (2007). The use of Insecticide Treated bed Net in a semi-urban community in south-south, Nigeria. *Nigerian Journal of Medicine*. 16(3):223-226.
- Regmi, K., Kunwar, A. and Ortega, L. (2016). A systematic review of knowledge, attitudes and beliefs malaria among the South Asian population. *Infection Ecology Epidemiology*, 6(30): 822.
- Ruberto, I., Camara, S., Banek, K. and Loua, M. K. (2014). Knowledge, attitudes and practices of malaria control among communities from the health district of Forécariah in the Republic of Guinea, West Africa. *Journal of Vector Borne Disease*. 51(2):119-27.
- Sadanand, S. (2010). Malaria: An Evaluation of the Current State of Research on Pathogenesis and Antimalarial Drugs. *Yale Journal of Biology and Medicine*, 83(4):185-191.
- Sanjana, P., Mazie, J. B., Michael, J. B., Sahat, O., Iqbal, E., Harijani, M., Sekar, T. I., Mohammed, S., Soesanto, T., and Kevin, B. (2006). Survey of Community Knowledge, Attitudes, and Practices during a Malaria Epidemic in Central Java, Indonesia. *American Journal of Tropical Medicine and Hygiene*, 75(5):783-789.
- Shimaponda-Mataa, N. M., Tembo-Mwase, E., Gebreslasie, M. and Mukaratirwa, S. (2017). Knowledge, Attitudes and Practices in the Control and Prevention of Malaria in four endemic provinces of Zambia. *Southern African Journal of Infectious Diseases*, 32(1):29-39.
- Singh, R., Musa, J., Singh, S. and Ebere, U.V. (2014). Knowledge, attitude and practices on malaria among the rural communities in Aliero, northern Nigeria. *Journal Family Medicine Prim Care*. 3(1):39-44.
- Tyagi, P., Roy, A. and Malhotra, M. S. (2005). Knowledge, awareness and practices towards malaria in communities of Rural, semi-rural and bordering areas of east Delhi, India. *Journal of Vector Borne Diseases*; 42:30-5
- Umaru, M. L. and Gabriel, N. U. (2015). Prevalence of Malaria in Patients Attending the General Hospital Makarfi, Kaduna State, North-Western Nigeria. *American Journal of Infectious Diseases and Microbiology* 3(1): 1-5.
- Usman, S. O., Temitope, O. I., Ayooluwa, S. A., Tonubari, F., Oluwakemi, E. U., Ibiwumi, N. I., Abdulfatah, I., Oluwadamilola, A. O., Titilope, E. O. and Akintayo-Usman, N.O. (2015). Knowledge and Practice of

- Malaria Prevention among Nonmedical Students of Higher Institutions in Ondo State, Nigeria. *International Journal of Innovations in Medical Education and Research*, 1(1):15-19.
- Wane, W. D. (2015). Estimation. *Biostatistics: A Foundation for Analysis in the Health Sciences*. 8th ed. p. 189–190.
- World Health Organization. (2014). World malaria report 2014. Geneva.
- World Health Organization. (2015). World malaria report. Achieving the Malaria MDG Target: Reversing the Incidence of Malaria 2000–2015: ISBN 978 92 4 150944 2
- World Health Organization. (2017). Global Health Briefing Book ghbb.globalhealth.org/briefs/malaria.
- Yaya, S., Bishwajit, G., Ekholuenetale, M., Shah, V., Kadio, B. and Udenigwe, O. (2017). Knowledge of Prevention, Cause, Symptom and Practices of Malaria among Women in Burkina Faso. *PLoS One*. 12 (7): 0180508.